Simplifying Expressions (A)

Simplify each expression.

.5—a—14+c—6a°+d° 6. 5y —2y —3y* +y* — 1 + 67
2. 4z—z+vz+ 141422 7. 6z4+u—1+1+2+4u°

. 0°+14+1—1+1+4ab 8. v+4v—y+2+6vy+y

4, =622 — 2 +3z7+1+7—2 9. —64+2y —y+2+2y*+4y
5.5—x—4x* +14+x+6x° 10 v+ 14+5y+y+2y°+6
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Simplifying Expressions (A) Answers

Simplify each expression.

S—a—14+c—6da*+d*
= S5a*—a+c+4

4z —z4+vz+1+1+2z2
=vz+5z+2

b+ 1+1—1+1+ab
=b*>+ab+2

—62"— 7 +3z+1+7—2
= —67"+2z+1

5—x*—4x* + 14+ x+6x
=x*+x+6

6. 5y* — 2y —3y* +y* — 1 + 617
=3y +61* —2y—1

7.624+u—1+14+244u°
=4u* +6z+u+2

8. v+4v—y+2+6vy+y
= 6vy+5v+2

9. —6+2y—y-+2+2y +4y
:2y2+5y—4

10. v+ 145y +y+2y*+6
=2y*+v+6y+7
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